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Ord {dkmZ (g¡ÕmpÝVH$) 
(Ho$db ZoÌhrZ narjm{W©`m| Ho$ {bE) 

BIOLOGY (Theory) 

(FOR BLIND CANDIDATES ONLY) 

{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ : 70 

Time allowed : 3 hours Maximum Marks : 70  

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 11 h¢ & 
 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na {bI| & 
 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >27 àíZ h¢ & 
 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 
 Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU nydm©• _| 

10.15 ~Oo {H$`m OmEJm &  10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a 
Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 11 printed pages. 

 Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 27 questions. 

 Please write down the Serial Number of the question before 

attempting it. 

 15 minutes time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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gm_mÝ` {ZX}e : 

(i) àíZ -nÌ _| Mma IÊS>m| _| Hw$b 27 àíZ {XE JE h¡§ & g^r àíZ A{Zdm`© h¢ & 

(ii) IÊS> A _| àíZ g§»`m 1 go 5 A{V bKw-CÎmar` àíZ h¢, àË`oH$ àíZ EH$ A§H$ 
H$m h¡ & 

(iii) IÊS> B _| àíZ g§»`m 6 go 12 bKw-CÎmar` àíZ àH$ma I Ho$ h¢, àË`oH$ àíZ  
Xmo A§H$m| H$m h¡ & 

(iv) IÊS> C _| àíZ g§»`m 13 go 24 bKw-CÎmar` àíZ àH$ma II Ho$ h¢, àË`oH$ àíZ 
VrZ A§H$m| H$m h¡ & 

(v) IÊS> D _| àíZ g§»`m 25 go 27 XrK©-CÎmar` àíZ h¢, àË`oH$ àíZ nm±M A§H$m| 
H$m h¡ & 

(vi) àíZ -nÌ _| g_J« na H$moB© {dH$ën Zht h¡, {\$a ^r 1 A§H$ dmbo Xmo àíZm| _|,  
2 A§H$m| dmbo Xmo àíZm| _| 3 A§H$m| dmbo Mma àíZm| _| Am¡a 5 A§H$m| dmbo g^r 
VrZm| àíZm| _| ^rVar M`Z-{dH$ën {XE JE h¢ & àË`oH$ narjmWu H$mo Eogo àíZm| Ho$ 
Xmo {dH$ënm| _| go H$moB© EH$ àíZ hb H$aZm h¡ &  

(vii)  Amdí`H$VmZwgma, {MÌm| H$m aoIZ gm\$-gwWam Ed§ `Wmo{MV bo~b hmoZm Mm{hE &   

General Instructions : 

(i) There are a total of 27 questions and four sections in the 

question paper. All questions are compulsory. 

(ii) Section A contains questions number 1 to 5, Very Short Answer 

Type Questions of one mark each. 

(iii) Section B contains questions number 6 to 12, Short Answer 

Type I Questions of two marks each. 

(iv) Section C contains questions number 13 to 24, Short Answer 

Type II Questions of three marks each. 

(v) Section D contains questions number 25 to 27, Long Answer 

Type questions of five marks each. 

Downloaded From :http://cbseportal.com/

Downloaded From :http://cbseportal.com/ Courtesy : CBSE

http://cbseportal.com/
http://cbseportal.com/


57(B) 3 P.T.O. 

(vi) There is no overall choice in the question paper, however, an 

internal choice is provided in two questions of 1 mark, two 

questions of 2 marks, four questions of 3 marks and all the 

three questions of 5 marks. In these questions, an examinee is 

to attempt any one of the two given alternatives.  

(vii) Whenever necessary, the diagram drawn should be neat and 

properly labelled.   

IÊS A $ 
SECTION A 

1. S>rd«rµO Ho$ AZwgma ‘gmëQ>oeZ’ Š`m h¡ ?   1 

According to de Vries, what is ‘saltation’ ?   

2. Cg àH$ma Ho$ H$mo{eH$m {d^mOZ H$m Zm_ VWm AdñWm ~VmBE {Og_| g_OmV 
JwUgyÌm| (H«$mo_mogmo_m|) Ho$ `wJb H$m ~ZZm VWm {dg§`moOZ hmoZm K{Q>V hmoVm h¡ &   1 

AWdm 

 ñQ´>oßQ>moH$moH$g na H$m`© H$aVo hþE {J«{\$W Zo {H$g àH$ma `h {ZîH$f© {ZH$mbm {H$ 

ê$nm§VaU Ho$ {bE H$moB© ‘ê$nm§Var` {gÕm§V’ CÎmaXm`r h¡ ?  1 
Name the type of cell-division and the stage where pairing and 

separation of a pair of homologous chromosomes occur.  

OR 

How did Griffith, while working with Streptococcus, come to 

the conclusion that there is some ‘transforming principle’ 

responsible ?    

3. Cg amoJ H$m Zm_ {b{IE {Og_| eara AnZr hr H$mo{eH$mAm| na AmH«$_U H$a XoVm 
h¡ & BgH$m EH$ CXmhaU Xr{OE & 1 

AWdm  

 {ZåZ{b{IV _| go àË`oH$ H$s EH$-EH$ CÞV Zñb H$m Zm_ {b{IE &  1 

(a) XþYmê$ (XÿY XoZo dmbo) new  

(b) Hw$ŠHw$Q>  
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Name the  disease caused when the body attacks its self cells. 

Give an example.  

OR 

Name one improved variety of each of the following :    

(a) Cattle  

(b) Chicken  

4. ~m`monmBaogr Š`m h¡ ?  1 
What is Biopiracy ?  

5. {H$gr nwîn Ho$ A§S>me` _| ~rOmÊS> {Og g§aMZm go Ow‹S>o hmoVo h¢, CgH$m Zm_  
{b{IE &   1 
Name the structure to which the ovules are attached in the 

ovary of a flower. 

IÊS B 

SECTION B 

6. dm`mobm (nmZgr) nwînm| _| n[ab{jV AZwÝ_rë` namJUr nwînm| H$m EH$ bm^ VWm 
EH$ hm{Z {b{IE &  2 

AWdm 

 _mZdm| _| A§S>OZZ Ho$ A§V _| {Z_m}{MV hmoZo dmbo Y«wdr` qnS>m| H$s Hw$b g§»`m 
{b{IE & CZ AdñWmAm| Ho$ Zm_ {b{IE {OZ_| do CËnÞ hmoVo h¢ Am¡a Š`m| ? 2 

Write an advantage and a disadvantage of cleistogamy as seen 

in Viola (pansy) flowers. 

OR 

Mention the total number of polar bodies released at the end of 

oogenesis in humans. Write the stages in which they are 

produced and why ?   

7. ñVZYm[a`m| H$s EH$ àmê$nr H$mo{eH$m _| {ÛHw§$S>br S>r.EZ.E. H$s bå~mB© H$m 
n[aH$bZ {H$g àH$ma {H$`m OmVm h¡ ?  2 
How is the length of DNA double helix in a typical mammalian 

cell calculated ?   
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8. hr_mo\$s{b`m H$mo _|S>br` {dH$ma Š`m| _mZm OmVm h¡ ? {ñÌ`m| _| Bg amoJ Ho$ hmoZo 
H$s g§^mdZm {dab hmoVr h¡ & Am¡{MË` {b{IE &  2 

AWdm 

 Q>r.EM. _m°J©Z Zo AnZo à`moJm| Ho$ {bE S´>mogmo{\$bm _ob¡ZmoJ¡ñQ>a (\$b _pŠI`m|) 
H$m M`Z Š`m| {H$`m ? H$moB© Mma H$maU {b{IE &  2  

Why is Haemophilia referred to as a Mendelian disorder ? 

Human females rarely suffer from this disease. Justify.  

OR 

Why did T.H. Morgan select Drosophila melanogaster (fruit 

flies) for his experiments ? Give any four reasons. 

9. _Yw_ŠIr nmbZ AWm}nmO©Z H$m EH$ gwì`dpñWV CÚmoJ ~Z J`m h¡ & BgHo$ 

CËnmXm| H$s gyMr ~ZmBE VWm CZHo$ Cn`moJm| H$m CëboI H$s{OE &  2 

Apiculture has become an established income generating 

industry. List its products and mention their uses.  

10. àH¥${V AZoH$ nm[aV§Ì godmE± àXmZ H$aVr h¡ & Eogr Xmo godmAm| H$m Zm_ {b{IE 

VWm CZH$s gmW©H$Vm H$m C„oI ^r H$s{OE & 2 
Nature provides many ecosystem services. Mention two such 

services and their significance.  

11. H$m~©Z MH«$ VWm µ\$m°ñµ\$moag MH«$ _| {d^oX H$s{OE & (H$moB© Xmo A§Va {b{IE) 2 
Differentiate between carbon cycle and phosphorus cycle. 

(Write any two differences) 

12. ñdMm{bV dmhZm| _| CËàoaH$ n[adV©H$m| (H¡$Q>m{b{Q>H$ H$ÝdQ>©g©) H$m Cn`moJ àXÿfU 

Ý`yZV_ H$aZo _| {H$g àH$ma ghm`H$ h¡ ? ì`m»`m H$s{OE &  2 
How does the use of catalytic converters help automobiles to 

minimize pollution ? Explain.  
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IÊS C 

SECTION C 

13. {H$gr nwîn _| ^«yUnmof Ho$ {dH$mg Ho$ {d{^Þ MaUm| H$s ì`m»`m H$s{OE & 3 

AWdm 

(a)  Eg.Q>r.S>r. H$s g_` go nhMmZ Ed§ ghr CnMma Ho$ {bE g§H«${_V amoJr 
(ì`{º$) H$mo Š`m ^` ahVm h¡ ? 

(b)  {dbå~ hmoZo Ho$ H$maU ~mX _| hmoZo dmbr {H$Ýht Mma O{Q>bVmAm| H$m 
CëboI H$s{OE &   3 

Explain the various steps in development of endosperm in a 

flower.  
OR 

(a) What deters the infected persons of STDs from timely 

detection and proper treatment ?  

(b) Mention any four complications this could lead to, in 

later stages.  

14. (a) J^©{ZamoY {d{Y Ho$ ê$n _| bmoJm| H$mo ‘~ÝÜ`H$aU’ H$s gbmh H$~ Xr OmVr 
h¡ ?  

(b) nwéfm| _| `h {Og àH$ma g§nÞ hmoVm h¡ CgH$s {d{Y {b{IE & 
(c) Bg {d{Y H$s gr_m ~VmBE &    3 

AWdm 
 {ZåZ{b{IV Ho$ àH$m`© {b{IE :  3 

(a) _mZd d¥fU _| gQ>m}br H$mo{eH$mE± VWm br{S>J H$mo{eH$mE±  
(b) _mZd ewH«$mUw H$m AJ«qnS>H$ (EoH«$mogmo_)  
(a) When is ‘sterilisation’ advised as a method of 

contraception ?  

(b) Write the procedure how it is achieved in a human male. 

(c) State the limitation of this method.  

OR 

Write the functions of the following :  

(a) Sertoli cells and Leydig cells in human testis    

(b) Acrosome of human sperm  
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15. (a) _mZd eara Ho$ Xmo D$VH$m| Ho$ Zm_ {b{IE {OZH$m Cn`moJ S>r.EZ.E. 
A§Jw{bN>mn (S>r.EZ.E. q\$JaqàqQ>J) Ho$ {bE {H$`m OmVm h¡ &  

(b) S>r.EZ.E. ~hþê$nVm Š`m h¡ VWm `h H¡$go CËnÞ hmoVr h¡ ?  3 
(a) Name the two tissues in the human body which are used 

for DNA fingerprinting.   

(b) What is DNA polymorphism and how does it arise ? 

16. _Zwî`m| _| n[ab{jV {d{eîQ> AmZwd§{eH$ {dH$mam| Ho$ bjU {ZåZ{b{IV h¢ & BZ 
AmZwd§{eH$ {dH$mam| H$mo nhMm{ZE VWm CZHo$ {d{eîQ> H$maU ^r {b{IE & 3 
(a) N>moQ>m µH$X, N>moQ>m Jmob {ga, Or^ _| Im±M hmoZm VWm _wI Am§{eH$ ê$n go 

Iwbm ahVm h¡ &   
(b) Aënd{Y©V A§S>me` hmoZm VWm {ÛVr`H$ b¢{JH$ bjUm| H$m A^md hmoVm  

h¡ & 
(c) g_J« ê$n go nw§àYmZ {dH$mg Ho$ gmW dj H$m dY©Z ({dH${gV ñVZ) &     

Given below are the symptoms of certain genetic disorders 

observed in humans. Identify the genetic disorders and state 

their specific causes. 

(a) Short-statured with small round head, furrowed tongue 

and partially open mouth.  

(b) Rudimentary ovaries including lack of secondary sexual 

characters.  

(c) Overall masculine development with development of 

breast.  

17. B©.H$mobmB© Ho$ g§dY©Z _mÜ`_ (Ohm± dh d¥{Õ H$a ahm h¡) _| O~ b¡ŠQ>moµO S>mbm 
OmVm h¡, Vmo b¡H$ àMmboH$ (b¡H$-Amonoam°Z) _| hmoZo dmbr n[aKQ>ZmAm| H$mo  
{b{IE &  3 
Write the events that would follow in a lac operon of  

E. coli when lactose is added to the culture medium where it is 

growing. 

Downloaded From :http://cbseportal.com/

Downloaded From :http://cbseportal.com/ Courtesy : CBSE

http://cbseportal.com/
http://cbseportal.com/


57(B) 8 

18. g{H«$` à{Vajm VWm {ZpîH«$` à{Vajm _| {d^oX H$s{OE &  3 

AWdm 

 {ZåZ{b{IV àË`oH$ O¡dg{H«$` AUwAm| Ho$ òmoV Ord VWm _mZd H$ë`mU _| CZH$s 
^y{_H$m {b{IE :  3 

(a)  ñQ>o{Q>Z 

(b)  ñQ´>oßQ>moH$mBZoµO  

(c)  gmBŠbmoñnmo[aZ E 

Differentiate between active and passive immunity.  

OR 

Write the source organisms of each one of the following 

bioactive molecules and their role for human welfare :  

(a) Statin  

(b) Streptokinase  

(c) Cyclosporin A  

19. ^«yU A§VaU VH$ZrH$ (MOET) H$mo XþYmê$ newAm| Ho$ gwYma Ho$ H$m`©H«$_ Ho$ ê$n _| 
Š`m| AnZm`m J`m h¡ ? Bg àH«$_ Ho$ {d{^Þ MaUm| H$m CëboI H$s{OE &  3 

Why is MOET program practised on cattle ? Mention the steps 

involved in carrying out the process.     

20. nma§n[aH$ àOZZ nÕ{V H$s Anojm CËn[adV©Z àOZZ H$mo dar`Vm Š`m| Xr OmVr  
h¡ ? EH$ CXmhaU H$s ghm`Vm go àH«$_ H$m dU©Z H$s{OE & 3 
Why is mutation breeding preferred to conventional breeding ? 

Describe the process with an example.   

21. OrdmUw H$mo{eH$mAm| H$mo Š`m| Am¡a {H$g àH$ma gj_ ~ZmVo h¢ ? ì`m»`m H$s{OE &  3 
Why and how are bacterial cells made competent ? Explain. 
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22. (a) S>r.EZ.E. AUwAm| H$mo {d{eîQ> ñWbm| na H$mQ>Zo Ho$ {bE à`wº$ E§µOmB_ H$m 
Zm_ {b{IE &  

(b) Bg àH$ma ~ZZoo dmbo S>r.EZ.E. I§S>m| (Qw>H$‹S>m|) H$mo {dbJ H$aZo H$s 
VH$ZrH$ H$m Zm_ {b{IE VWm ì`m»`m ^r H$s{OE & 3 

(a) Name the enzyme that is used for cutting the DNA at 

specific points.  

(b) Name and explain the technique used for separating the 

DNA fragments thus formed.   

23. ~r.Q>r. H$nmg Ho$ nm¡Yo CZ H$sQ> nr‹S>H$m| (JmobH$ eb^) Ho$ à{VamoYr h¢ Omo ~¥hX² 
ñVa na H$nmg H$s \$gb H$mo ZîQ> H$a XoVo h¢ & g_PmBE {H$ O¡dàm¡Úmo{JH$s H$s 
ghm`Vm go `h {H$g àH$ma g§^d hmo gH$m &  3 

Bt cotton plants are resistant to insect pests (boll worms) 

which destroy the cotton crop on a large scale. Explain how it 

has been made possible with the help of biotechnology.  

24. (a) A{YH$Va OÝVwAm| VWm bJ^J gmao nm¡Ym| H$mo ‘‘g§ê$nr’’ g§dJ© _| aIm J`m 
h¡, Š`m| ? ì`m»`m H$s{OE &  

(b) D±$Mo ñWmZm| na N>moQ>o àmUr {dabo hr {_bVo h¢ & H$maU Xr{OE & 3 

AWdm 

(a)  MaKmVm§H$s d¥{Õ _m°S>b VWm g§^ma V§Ì (bm°{OpñQ>H$) d¥{Õ _m°S>b _| {d^oX 
H$s{OE & 

(b)  XmoZm| _m°S>bm| _| go H$m¡Z-gm _m°S>b `WmW©nyU© h¡ Am¡a Š`m| ?  3  

(a) Why are majority of animals and almost all plants 

categorised as ‘‘conformers’’ ? Explain. 

(b) Small animals are rarely found on higher altitudes. Give 

reasons. 

OR 

(a) Differentiate between exponential growth and logistic 

growth models.  

(b) Which one of the two models is realistic and why ?  
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IÊS> D 

SECTION D 

25. (a) namJH$Um| Ho$ {Z_m©U _| AmdopîQ>V H$mo{eH$mAm| H$m Zm_ Ed§ àH«$_ {b{IE &  

(b) namJH$U H$s {dñV¥V g§aMZm Ed§ {d{^Þ ^mJm| Ho$ H$m`m] H$m dU©Z H$s{OE & 
 1+4=5 

AWdm 

 {ñÌ`m| _| AmV©d MH«$ Ho$ Xm¡amZ {d{^Þ n[aKQ>ZmAm| _| nr`yf hm°_m}Z Ed§ A§S>me`r 
hm°_m}Z H$s ^y{_H$m H$s ì`m»`m H$s{OE &  5 

(a) Name the cells and the process involved in the 

production of pollen grains.   

(b) Describe the detailed structure and functions of the 

different parts of a pollen grain. 

OR 

Explain the role of pituitary and ovarian hormones in various 

events during a menstrual cycle in the human body. 

26. S>r.EZ.E. na {Z^©a S>r.EZ.E. nm°{b_aoO {H$g {Xem _| H$m`© H$aVm h¡ ? S>r.EZ.E. 
à{VH¥${V àH«$_ H$m dU©Z H$s{OE Omo XrK© S>r.EZ.E. AUwAm| H$s Xmo a‚mwH$m| _| 
AJ«gm[aV hmoVm h¡ &   5 

AWdm 
(a) C{MV CXmhaUm| H$s ghm`Vm go g_OmV Am¡a g_ê$n A§Jm| _| A§Va ñnîQ>  

H$s{OE & 
(b) S>m{d©Z Zo AZwHy$br {d{H$aU H$s ì`m»`m {H$g àH$ma H$s ?  3+2=5 

In which direction does DNA-dependent DNA polymerase 

function ? Describe the process of DNA replication that 

progresses in the two strands of long DNA molecules. 

OR 

(a) Differentiate between homologous and analogous organs 

with the help of suitable examples.     

(b) How did Darwin explain adaptive radiation ? 
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27. (a) Kaoby dm{hV _b _| CnpñWV à_wI g§KQ>H$m| H$s gyMr ~ZmBE &  

(b) Kaoby dm{hV _b _| CnpñWV àË`oH$ loUr Ho$ g§KQ>H$m| Ho$ {dgO©Z H$m Ob 
òmoV na Š`m à^md n‹S>oJm ?  

(c) {H$gr Ob òmoV H$m ‘~r.Amo.S>r.’ {H$gH$m gyMH$ h¡ ?  1+3+1=5 

AWdm 

(a)  nanmofr Ed§ naOrdr Ho$ nmañn[aH$ g§~§Y Ho$ g§X^© _| gh-{dH$mg H$s 
ì`m»`m H$s{OE &   

(b) naOr{d`m| _| CZH$s OrdZ e¡br Ho$ AZwê$n {dH${gV Mma {d{eï> AZwHy$bZ  
{b{IE & 3+2=5 

(a) List the major components present in the domestic 

sewage. 

(b) How would each category of the components present in 

the domestic sewage affect the water body in which it will 

be discharged ?    

(c) What is ‘BOD’ of a water body indicative of ? 

OR 

(a) Explain the term co-evolution with respect to  

the inter-relationship between predator and parasite. 

(b) Give four special adaptations which parasites have 

evolved in accordance with their lifestyles.   
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